
ChapteN-5 
Multpicabion 
WoNk sheet 

1-Solve 
A.MuLply the follow.ng by vsing tables 
1) 6X4=24 2) 12X550 
B.Use mvlbiplgicatioh bables to Co mple te 

Pattewns. 

1)2,1,58 1012 
23)6,912- 112124 

16 

C. Multipy the Following 
o 2 8so 1 324 

X 
296 

5812 0 0.State whethev the Folle wing awe twue owhs 
194x8 8%False 
2)8ox6 540 alse 

2 8 
X6 

T6 



E. Find the Pwodvd 

23 
x2 

O2 
+60 
552 

2 25 
x 

0 
t350 

S60 

11- Do as dinected 

A)Estimate Ehe folowing pwodvet 3 to neanvest 1o 

2598 x 3 

RoUnding otf to the neawest tooh26 00 We get 2600 x Y0 = )0o00 X O 
OPOO0 

e edsyPuod f TOYO O0 
2 

ACtval diewene 
90 ey0 

2598X37=96126 @98 
O s/08910 86 
ot 9 8 

96 26 e) Mulbl thed ollowing.oS0Uing 'Latbe ulbipli ation 
4358x4 oPuo 

6 

9 6 
6 1+2 2 



90br CMul&:ph the followng 
9.S 

PD 

6 
D) S towy mS. 

Mvltiply the ftanting ang est 3mdigt 
nun be by the lavgest 2- digft nu7 Der 

Ans- 

000 Ho=Oxco 

OC89 O1 

29ATlost wants to ma Ke 3t bovgue ts with 
y510weNs in each Fowews in Cach bougueE 

How Any Owens does he need ? 

AlesNS- 
ONU-6 ETv OT ovvet 

Ans. Num.bew ofofoweNS 5 fo: i(u0 38N 0 bew o oug,uebs = 3 NombeN of o WeDN he need 4X34 1665 

O 

NombeN PX&20N 
O 

S 
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